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=M # 5):&E E (mm/min) L——5&E (%) T E%(E) INYF T (mm)
MDF#R 1mm[4]#7] 100 100 10 -
R [%IED) 2000 100 1 0.1
AR [%IEN) 1500 100 1 0.1
LY —MHIE] 2000 50 1 -
B3 [ZIEN] 2500 100 1 0.1
(%] 2000 100 1 0.1
A —h T+ H8— K [%IEN] 800 100 1 0.1
SE[ZIEN) 2000 100 1 0.1
A% 35221 €U1:1) 2000 100 1 0.1
A% o1 €11E1) 1000 80 1 -

XEEOUENOBE G/ \vF LY OIEEDPI: 254 BEHX THEL




fat g

=M #8):&E E (mm/min) L—H—5&E (%) T [E%k([E) INYF Y (mm)
72U FEB/E 2mm[ L] #r) 200 100 10 -
ABST—h(2) [41#7] 300 100 1 -
EVAZA+—L[ZIEN] 8000 100 1 0.1
OPPY—bk 0.1mm[ ] ] 100 100 1 -
T8 F 2mm[ Tk ] 100 100 2 -
T8 FR/E Smm{]E] 300 100 1 -
RKT Ly —bk 0.4mmLIH7] 100 100 1 -
KA L —bk 0.4mm[ZIEN]) 500 100 1 0.1
vk FIHT] 100 100 5 -
PETZ4/L L 2 38um[L1#7] 800 100 1 -
PETZ4/L L & 50um[ 4] H] 200 100 1 -
PEsZ4JL . % 0.075mm[ ] k] 400 100 1 -
PP#tis 2 H5X30%[L1kr] 50 100 8 -
AvFRATRFLTT—F 18R] 500 100 1 -
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=M #8):&E E (mm/min) L—H—5&E (%) T [E%k([E) INYF Y (mm)
# 2[zI;n] 8000 80 1 0.1
e 3 €121 2000 100 1 0.1
# Blxign] 1000 100 1 0.1
# 0.3mm[ 4] 100 100 1 -
RI—FLH—2mm F[%IF] 5000 100 1 0.1
RL—ALH— 1.5mm E[ZIEN) 5000 100 1 0.1
AL—ALH— 2mm B [ZIEN] 2000 100 1 0.1
Zx)Lk 3mm FREI#] 300 100 3 -
Jz)Lk 3mm J L—[ 4] 300 100 3 -
RO XAE[ZIEN] 2000 80 1 0.1
Bh s 7R TR7 )L [ E1#) 800 80 2 -
RUTRT LAY 2 100(H1HT] 1000 100 1 -
Zz)Lk 1mm & E1#] 800 100 1 -
BEE 1.2mm[%IEN) 2000 100 1 0.1
BEEE 1.2mm[YkR] 600 100 10 -




=H #E:EE (mm/min) L—H—5&E (%) IO [E%K ([E) INYF S (mm)
Faa2 Ay a t0.68[ L) 8000 100 1 -
n E[tI#r) 600 100 1 -
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=M #21% E (mm/min) L—H—5&RE (%) AN T [E% (E) INYF 2 (mm)
927K T—IL Amm[E]ER] 200 100 4 -
d—kER "—IL[ U] 200 100 1 -
=)L £[/\—THYK) 300 100 1 -
Fy7HR "—IL imm[ k] 100 100 3 -
T—AA R R U18] 500 100 1 -
T —A R B[] 200 100 1 -
BRI/ N—THY] 500 100 1 -
BR—IL EZIL— t1.6[ L] kA] 800 100 10 -




Z D1tk

=M #8:&EE (mm/min) L—H—5&E (%) NI [E%k([E) INYF T (mm)
HRATS[ZIEN] 500 100 1 0.1
B A RZEY[ZIH) 500 100 1 0.1
R R ZEY (Y] 100 100 6 -
b=l €7]21) 2000 50 1 -
Rir—bR—F TyxT—T[4187] 100 100 1 -
tztzA UL LI EI#R] 700 100 10 -
FiR REBY[ZIMN] 500 100 1 0.1
T)H—=TrI57— E([ZIEN] 1000 50 1 -
RUHIL R T+ —L[H1#7] 100 100 30 -
%1 €131 1000 100 1 0.1

HXEEDZHNDIGZE X/ \YFT DIEFEDPI:254[CEE# 2 TS
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EX ) ¥ E)E E (mm/min) L—H—5&E (%) I [E% (E) NYFT (mm)
MDF#R 1mm[ ] i#7] 300 100 7 -
44 [ZIEN] 2000 100 1 0.1
HU3[ZIE] 3500 100 1 0.1
AR 3mm Y] 700 100 5 -
AFE[ZIEN] 2000 100 1 0.1
S2E[ZIE] 3000 100 1 0.1
INA UM [ZIEN] 2000 100 1 0.1
NILHH 3mm[E1#r] 1000 100 5 -
£/ R (%IEN] 1000 100 1 0.1
E/\#[ZIEN] 500 100 1 0.1
AT v S[ZIEN] 2000 100 1 0.1
RIVFoT—a#[ZRIE] 500 100 1 0.1

XEEDZHNDHZEIF/\NYF T DIEZDPI: 254 TEE R TS
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=M #21% E (mm/min) L—H—5&RE (%) I [E%(ED) INYF 2 (mm)
TV FFEBR/IE 2mm[ ] #7] 350 100 10 -
ABSY—k () [H117]) 500 100 1 -
CFRP[%IEN] 1000 100 1 0.1
T 3/3% & 5mm([ L] k] 600 100 2 -
7552 5mm E[ 18] 500 100 5 -
PETHEES S —b 0.2mm[ ] #7) 100 100 1 -
PETH#EESE T —b 0.3mm[ k7] 100 100 5 -
NI)LER—L > 1mm[Y]#r] 500 100 1 -
R T AL L 0.15umIETET) 100 100 1 ;
RYTRFILARZUIZIE] 300 30 1 -
RUFoEL > E#onx[Y)Er] 400 100 1 -
A—AR B & [ZIEN) 8000 100 1 0.1

XEHEOHNOEE 2/ \vF 2 DIEEDPI: 254 BE X THEEL
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=M #8:&EE (mm/min) L—H—5&E (%) NI [E%k([E) INYF T (mm)
H—~yk BTz /LAY 100 100 3 -
% 1.3mm #E([%IE1] 500 10 1 0.1
# 1.3mm E[]#7) 300 100 6 -
LA —ik—ALH—[%IE] 6000 100 1 0.1
T=L FUIE] 1500 50 5 -
PR TR TIL[EIER] 1400 80 2 -
RYTRTIL KE[LE] 100 100 7 -
RUTRTIL EV V[ H1#7]) 150 100 7 -
ST Hh—RyrRITTILHEIHT] 100 100 3 -
DESA €121 2500 100 1 0.1
DESA -] 500 100 1 -
Jz)Lk 1mm & E1#r] 1300 100 1 -
H—ILRYY—2 £ [ ] 1000 100 1 -

XEEDZHNDHZEE X/ \YF T DIEZDPI: 254 TEE R TS
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EX ) ¥ B0E E (mm/min) L—H —i&E (%) hn T =% ([E) NYFT (mm)
AR 2 (Y)#T) 2200 100 1 -

257 MR [ZIED) 3000 100 1 0.1

o—IL £[Y1ER) 200 100 1 -

=L £[/N\—THYH] 300 100 1 -

T— AR #R(ER] 1000 100 1 -

T—AA N B[ YI#r] 300 100 1 -
EEAR—IL[ZIEN) 4000 100 1 0.1

XBHOUANDBEE/ \YvF o OEEDPI: 254 BE T TS
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=M ¥ 21% E (mm/min) L—H—5&RE (%) T [E%(E) INYF 2 (mm)
ICF v [ZIEN] 2000 100 1 0.2

R R (%] 400 100 1 0.05

B AR REY[Y1E) 100 100 6 -

f=t=#&[%IEN] 3000 100 1 0.1
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